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Mr. Varughese - Alg2

Date:
Midterm Review #2

Part 1: For each statement or question, choose the word or expression that, of those given, best
completes the statement or answers the question

1.

Which function Is even?
(1) f(x) =sinx

& fx)=x*-4

3) f(x)=Ix-2]+5
(8) f(x)=x*+3x3+4

If £(x) Is an even function, which function must also
be even?

(1) f(x-2)

o f@x)+3

3) fix+1)

(4) f(x+1)+3

Which equation represents an odd function?

® y=sinx
(2) y=cosx
B)y=(x+1)?
(4) y=e>*

The graph of the function p(x) is sketched below.
P(x).

Which equation could represent p(x)?
W) =x*-9(x-2)

(2) p(x) =x®-2x*+9x+18

(3) p(x) = (x* +9)(x — 2)

(4) p(x) =x3 +2x>-9x - 18
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5. Which description could represent the graph of

f(x) = 4x*(x + a) — x — a, ifais an integer? "f-;f? (71 -,ta\) —%X =0\

(1) Asx = —oo, f(x) = o0,as x = o, f(x) = o, &
and the graph has 3 x-intercepts. Lh'x ( % fON) | CX-:'-C\)

£) Asx = -, f(x) 2 —m,as x = o, f(x) - oo, 7

’ and the graph has 3 x-Intercepts. (* ONCREEAD

JarAsx = —oo, f(x) = o,as x = o, f(x) = —oo, (% +OVY (2 # 41 D (g =« —-\)
and the graph has 4 x-intercepts.

}desx = -0, f(x) » —m,as x = o, f(x) = oo, e 4 o ola 4’(1‘6(() }s.

and the graph has 4 x-intercepts. . posiliw grd ijﬂ'e
¥ of
6. The roots of the equation x2 + 2x + 5 = 0 are

2 /
i Sl /

B% —1+2iand-1-2i E > % « -2 V@' -40))

(4) =1+ 4iand —-1-4i 20D
v = T &
7. Asketch of r(x) Is shown below. Ik ki:i_"}_'_/b- =2 4
2= ) 2
r{x) _
4 ReE~] 94

bwnte Y = - C _»(X*’C)L

ox X=7hb = xtb
=00 = x-on

Y
An equation of for r(x) could be
(1) r(x) = (x—a)(x+ b)(x + ¢)
(2) r(x) = (x + a)(x — b)(x — ¢)?
(3) r(x)=(x+a)(x—b)(x—c)
B () = (x—a)(x +b)(x +c)?
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8. Which equation represents the equation of the parabola q
with focus (-3, 3) and dlrectrlxy = 77 o — =7
(1) y=5(x+3)?-5 b
Cy r- \J + wer: (-2 5Y
(2)y=-(x 3)*+5 #

L & T
"»y=—"(X+3)2+5 d y( )()(-“3) +5 / l{ "?‘: - 2
(4)y——-(x -3)245

. g
2 B0
" L — —
9. The solution to the equation(— 2x2 = —6x + 20)are ~ N
(1) -6%2i i : i Y-l V) U (1340
%rslre=40 2D
(2) -6+ 2V19 s '
® 6+2 X“-)iyx 440=0 -)'Z+\l—/fa . 2 g i,_,
(4) Gizm 0\:'/5:-..’1} Q:HO z 2
10. fA=-3+5i,B=4~-2i,andC =1+ 6i, whereils (at’ZJ
the imaginary unit, then A — BC equals
1) 5-17i
52; 5_,_27; (3 +$J)—- (4-2H0 +QM) " xcaltdadoc
M —19-17i H
(4) =19+ 27i

11. The graph of p(x) is shown below.
y

h

[ 1) If
/
/

P

A

A & z

What is the remainder when p(x) is divided by
x +4?

(1) x—4

(2) -

@ o

(4) 4
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12. The solutions to the equation 5x? — 2x + 13 = 9 are

(1,551? 51 -lwty -0

® %i";._'._’( e O R b 5 T Vi)=Y s XY

e - i lom s

(4)%1? ')(-’-_______.,lft;ﬁ(’: -;C__f‘_-—ﬂ z }—o".'f-z—%aﬂ-q: ‘;_-'f i——l-j
13. Factored completely, m5 + m3 — 6m is equivalent to

(1) (m +3)(m - 2) NS FEPL RN

(2) (m? +3m)(m? - 2)
(3) m(m* +m? —6)
® m(m? +3)(m? - 2)

Ta) L"’ LS. iﬂ" -2)

14. If (a3 + 27) = (a + 3)(a? + ma + 9), then m equals 0\3 + % o
(1) =9 2 ¥
- -3 (&43)(0\ -20.+3 )
(3) 3
(4) 6

15. What is the solution set of the equation

2 1 &, "2; et e o soludiop | = U"J&f""‘?"‘-

3x+1 . 1.x 3x+1

. 1 P
g}'} f}z} cethe A= /2 (

P 2 ) el i -
/Liﬂ {%] 3w O2) 3¢ ¥2) ¢\ /Zf vs NOT o

= S@'uJ‘Eo e}
‘ {5'2} ’ g = L —_— 2’ \.\

16. Given c(m) = m® — 2m? + 4m — 8, the solution of
c(m)=20is _ 3 -
(1) +2 O:m =20 4 Hm-B
(2) 2, only s v % B Sty = W f et
(3) 2i,2 0 \ > ( )
R P e Gt B
T M-2:0 mt+y=0
wez | mEY

==

r
™ = ‘.'-;ZA
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Part 2: Show all necessary work to receive credit.

17. The distance needed to stop a car after applying the brakes varies directly with the square of the
car's speed. The table below shows stopping distances for var_!oys_speeds.

Speed (mph) | 10 J20] 30 40} s0o 60| 70
Distance (f)) | 6.25 | 25 ] 56.25 | 100 | 156.25 ] 225 ] 306.25
—_

"\__—/
Determine the average rate of change in braking distance, in ft/mph, between one car traveling
at 50 mph and one traveling at 70 mph. Explain what this rate of change means as it relates to

braking distance.
50@»2‘5’ - 15 b.25 150 q-L
- 7’ 5-

P -

—0 - so
¢ OnN 03 {-ch\i rﬂf)l\ intreute }e‘\J“) "10 7'5— ‘F& r0Ove

ol bnkiv dickace .

18. Express (1 = {)3 in a + bi form. (/
(/- 0Q-AN01-2)
]-i-i+4" J, l—Z FZ-'}\

=74 -1,

-7 4 "‘J‘\>
-z +24i%F
-2 +20-D
19. Algebraically solve for x: ;7; - :? = %
— % 3
Al Wty RSN SN
Z¥ x ! g
CHELK -
7:2(%\)-‘2(‘17‘3:7‘(7‘“) o o i)
J4x 1Y -8 x = X9_+ Y Z(n O Ly
54 Z
/lf-l-é')(:X’L'fX & 5B “-‘}
Lo
B2tk —G i T R
O=(x-7TX*+2) 7 ""
2_ s
A=7 £*—& 262y " Cgey 5 Y
T AR S |
‘{ | ‘1/
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20. Algebraically determine the values of x that satisfy the system of equations below:
y=-2x+1
y==2x143x+1

—2x 4] 2224 B |

FixTony =) A2AE-T o

2-)(7‘-51 - 0O 5:-7_(03\‘\
*(zx-s) =D o= A

5('“0|7"’5/2 a,-z.(r/z,‘:*\

21. Solve the following system of equations algebraically.
x2+y2 =400
y=x-—28
ya 2
X+ (x-28Y)° = gooO
2
)\2 + 5 ~Sex + 784= 400
7+%-Sex+38Y = O

Wt-28¢ +192 =0
(x =12 —16>3=0

X=12 x=16
a; [()“Lg

d: ]2 —28

(7:_,(0 G
\ (/2,716 (16, 7%) ]

e
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22. Determine the quotient and remainder when (6a® + 11a? — 4a — 9) is divided by (3a — 2).
r(a)

Express your answer in the form q(a) + —— d(a)’

1n" S0t 2 .
30\*—\@%11:@..%4 1 T

3 _ .

) s0* - "o\
-y Sa®-/Dd)
6o, -9
—(Ca - %)
= i

r(x) 1§

23. Given a(x) = x* + 2x3 + 4x — 10 and b(x) = x + 2, determine === 3G

b(x) a factor of a(x)? Explain.
xg ]
A +2 V)& 2-)4 + l—fx -

¢t 124%) v
Y -

- (HH‘?)
-18

s, o
X -+4 % bl

bex) is NoT o duder of alx) becavse Mere

E g in the form q(x) + —=

s N (c,mmno\(’.r of— "8
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24, When the function p(x) is divided by x — 1 the quotientis x2 + 7 + _x_s:; State p(x) in standard
form.

—
__?L__T‘) = A -+ 1+ -———")
T = W =y

Py (w-D | 2% %]

=
Pls) - & =) (xt11) + Lr‘ L =)

7(x) = L2+ TR=¥2-T 4+ S
\?C*)- 52— x* +77‘“Ll

25. Solve the following system of equations algebraically for all values of x, y, and z:
2x+3y—4z=-1
x—2y+5z=3
-4x+y+z=16

s ~ggs = |
2x+2&7 Hz > \§+ﬁ-101p ‘

-2_(7(..25+5;L_= 3 )

7}“"41=-7
@y +20% = 12
(x 2y +S E = 3)>>\K ﬁﬁ+z ) L
=4t +3. B = ' 48
-;,7 ezlz = 7
Ty -Ye=-7
Ty ~ 4(3) =~
g - = =7
F i

Zx+3g—Hz= ) -
2% A Y-y =~ | \ iy A - TR
2~ ::.-—Lf Q . / )

.-:—Z__\



